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t. vqg fr'{ra{r+{ Mtr{q.lfr Us< fiTI : 1x6:6

Answer the following as directed :

(a) !-s-{rqrE qrfth 3r<qK rR <inm T-{r q{ I

The cobweb model is represented by
using

(t) $qq @{-{ qsr rfr$<"I
first order difference equation

fr, frqr qrl-{ \q-€< qft{-{"t

second order difference equation
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('t, \KsE-{ qt$<q

differentiai equation

[u/ s'|?rs Brmq T.fl ebt.s n-€

None of the above

(lsqffir<rQGBeo;
( Choose the correit answer )

(b) ,qurE fr'{c"ts cT{K EFr r er-$ y $t u-<1"<

ffiqE q'<

The slope of an indifference curve in
case of two goods, x and y is

(A @ = -u*dx Ua

fir) + =Y,ox ua

fiii) I =o
dx

(iu) \eet<E Uafl1 +31{$.*T

All of the above

(eqffir<i&.BB'so;
( Choose the correct answer )
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(c) trREKT sx-ch fr1T r

State the Euler's theorem.

(d) CES EqoflT{ r-e-fi etT t<ftB Beaq o-{r r

Mention one property of CES production
function.

(e) {fr

a =7Ji , 9=z
dx

If

a=7,[i ,9=z
dx

0 qr-ofrTr qq ffiT<6r< vmltTlurc u-6c?r frq r

Write down the equilibrium condition
for a discriminating monopolist.

2. EE{ fr ffizm Tft fiT'{< s,FE u1 ctro frv : 4x2=8

Write short notes on any tuo of the
following :

(a) r-+<Ie.lE EE

Cobweb theorem

(b) <-q-<l q$-oBnT Sf'r$rl
Multiproduct monopoly firm

(c) It2rqKct C{ql

Expansion path
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g. fr-<"m G$ Trs C<r6q ? {r[t&E-sr< Acr.l

fi-<"r+ 6ql-i TE C+gR-T{ a& G-sq r

i
.i

T{T fr
2+9=11

What is an indifference curve? Mathematically
prove that an indifference curve is convex to
the origin.

qW/ Or '

1i{-srElqbqtnq +e-fi ?<fianT{qrffi5-{I T-{r I 11

Discuss tJ:e properties of Cobb-Douglas
production function.

4. qq-{ qToBrr <rffi-ft({ rH TqK{ {lqE T<r

fr6fi-a1"1 {6r qFP r-{ rfto<q F FC{
IRl = 53 -4Q1 qf$ ?R2 =29 -3Q2, Vf+ $ O'l
TEFT IC =20 + 5Q {'E Q = Qr + Qr. q-q4q1 se6

T{TT Tfft-s<q bq"rsq rRqn (qqrr Az ) sr+ F:n
Tqrfi r< (AR q-q an, ) fr.lt n-+ r 11

A monopolist discriminates prices between
two markets and price equations are given by
TR1 = 53 -4Q1 and TR2 =29 -3Q2, while the
total cost function is given by TC =2O+5Q,
where Q=Qr+Q2. Obtain profit maximizing
output (Q1and Qzl and prices (ARlandAR2)
of first and second market.
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qw/ or

,{q-{ qr-oB$ T{flfter E<reh Ifi G<"[k-{ sfrotl-dv

Gqeflq;r rfrcq, vr+ frra tqofiq{ $f\c$l-{< {b uc.ffi{
TEFI GZ{

TCr =lO -2Qr* 0r' * TC2 =15 -16Q2 +ZO?,

<fr r{v qt{:P-ffi AR = 50 -2Q, ({'E n = n, +Qz)
q{, (gec (scSs{ flqFr qr+ frAq s&6IiE FTTI
T{fErr6r Gq"rq qr+ q-dfq-s ylr frlh o-<r r

A monopolist produces his product in
two different plants and total cost

functions of the two plants are given by

TCr =to -2Qr + gl and TC2 :15 -16Q2 *2d
If the average revenue function is given by
AR = 5O -2Q, (where Q = Qr + Qzl, then find
his profit maximizing output to produce in
the first plant and second plant and his
maximum profit.

5. :r?F{rqtq q.IE{ sTRqt r-E-{ qrs c{tfln +qq 4z{ fi{l
qlCQ. Qdr =2O-6Pr qf+ Qst = -3+6Pr-t. Pr<

w-{flsr frfr $_{ t 12

Given the demand and supply functions for
cobweb model Qat =2O -6Pt and

Qst =-3+6Pr-r. Find the time path of Pr.
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qqq / Or

IIZflIAT Oq'fI?4 TEFI

Q=2L3K-2 qh Eq"nn+

TEETEI{ qI6S EqFT
fr:nft Eq{ r-sTsl gqrq r-{t

fr Tw? <fr
qT, Cg-CG EE

, qq{E Gqtn
2+lO=12

What do you me€ut by hombgeneous
production function? If O = 2L3K-2 is of the
linear homogeneous production function,
then show that the Euler's theorem satisfies
the product exhaustion theorem in support
of the above function.

6. qq-{ $orq-s'K S"rc{tligt FE{ fiil qteq

IJ=x2 +3xg-5y2 q-g pr=i<2, p, =T3 q;q

bte-rlrcm qlT t6 r B"rc-vrsfsa-C{ sKqlvui q\e- T-{rq
qqTs x qrs gF "tRITq frtr +-{1 t t2
The utility function of a consumer is given
by, U = x2 +3xA -SA2 , P* =-<2, p, = T3 and
income of the consumer is t6. Find out the
combination of x and A at the time of
equilibrium.

qffit / Or

$qoma-q bqflql <,T TT s-d6 t-(q-s r-'F <t-T a-E{
keq. c =2L+5K, {'s , q?F K @z{ rr q}s

T{<s r bs"llqq rE{ e = LK. sfr bq"r{{ "fRqq
Q = 40 Q{, cqag Z qfs 7f < TEI frqtq s-{ r

1Rr-q
Tq{

b"pxry-a

I
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A producer desires to minimize the cost of
production C=2L+5K, where L and K are

labour and capital respectively subject to the
given product function Q=LK. Find the

equilibrium combination of L and K in order
to minimize the cost of production when
outPut, Q = 40.

***
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